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= 28,606,652 17,439,080 11,167,602
= 241,000
== 3,823,000
Al 24,542,652
S gt Y 11,878,974 7,625,673 4,253,301
= 80,000
< 3,298,000
Al 8,500,974
JIEAH 11,878,974 7,625,673 4,253,301
= 80,000
== 3,298,000
Al 8,500,974
FelAE=E 28 & JHl 44,315 36,955 8,360
101 e124d| 8,360 0 8,360
M ORINZZ2NSE S 8,360 0 8,360
OHAb HE2+X Ald2e| Y 7,563
—QI24H| 38,4802 x 1 =212+73 5,657
-5+ 38,4802 x 131 1,198
—R=5g 38,4802 x1&+8L 308
—F22PE
38,4803 *1.5x 18«17 405
OA B2 Ald2te] o128 400
= 797
—=go= 7,157,280 *4. 5% 323
—JdHEE 7,157,280 *3.495% 251
—IILEE 250, 1473 *12.27% 31
—1EEE 7,157 2803 *1.75% 126
—&HEE 7,157,280&%0.92% 66
201 fer= 3| 35,955 35,955
02 S3=gHl 35,955 36,955
O JIBANE MRS (L+F, L
MS) 35,0003 5004 =% 123 21,000
OsgsSiigad 2|
114,000 #3204 A 3,648
O otxzte] tHEARGHI(7IHA)
1,069,000 794 2 7,483
OstoiZdl(&==21) |Al2e
23,7503 *161CH 3,824
THSOITRI(I A B A Z-HEAY) (M EALY) 200,000 200,000 0
401 Al HIZL 01| 200,000 200,000
01 Al&H| 200,000 200,000
OIS S EZ LT SA
133,333%*1,500m 200,000
SIIBEH(E2REES}) (HEALY) 500,000 340,000 160,000
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< 400,000
Al 100,000
401 Al HIZL 01| 500,000 340,000 160,000
= 400,000
Al 100,000
01 A&l 500,000 340,000 160,000
0842 7x23 A
500,000,000 x 14 500,000
=S 400,000
Al 100,000
N==XI2=SAt 40,000 160,000 120,000
401 AIEHIZ R 0HYI 40,000 160,000 A120,000
01 Al&H| 40,000 160,000 A120,000
L2918 o B22Y
10,000,000 *40H 2~ 40,000
SHCHHl SIHEME (Ol ZE) 100,000 100,000 0
= 80,000
< 10,000
Al 10,000
401 Al HIZL 01| 100,000 100,000 0
= 80,000
== 10,000
Al 10,000
01 Al 100,000 100,000 0
OB S4IHLA
25,000,000 *4H 2= 100,000
= 80,000
== 10,000
Al 10,000
SHS FLAES FAES=(HEAY) 4,756,620 3,412,008 1,344,612
201 er2 3| 300 683 A388
01 At2teltl 300 688 A388
Oselgitel 28 SABT 7e(SSE
f3S) 23,0002 #32r A 69
Os=IIBIALY F& Tl EH Y (Es
g s) 115,500 *2H 231
202 04| 1,320 1,320
01 =LHOLI 1,320 1,320
OSIIUhALe! ARXA O AZARIEE
S0l 60,0003 2 *3& 360
OsIILAIE ZH| &=l
20,0003 2H 2« 123 960
401 Al HIZ S 0HbI 4,755,000 3,410,000 1,345,000
01 AlZ2H| 4,740,000 3,3%,000 1,345,000
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OJtsUtl 28 HESA
25,000, 000& »24 50,000
OanE SEIIEAE EBIAY
20,000,000%2104 4,200,000
OsgIIerEdIAY A AIE A
5,000,000& x3A 15,000
OHlgHd s=2 HYEXN sFdel
1,250,000 * 1002 X| 125,000
OsgE M=Kl SHIJIAIE
1,041,666 x48H 2 50,000
OL=?g =clAE= RA2e
20,000,000& x5 100,000
OsgESHEAE AtZmde| & SEXAL 200,000
—HE XA 5,000,000& «243 120,000
— A= 2 3,333,333 «242 80,000
03 Al 20HHI 15,000 15,000 0
OARFLUSANL (S22, Ei=2)
1,250,000& 123 15,000
AR 2R SNE (SLIIBAIZ EHI) 1,104,000 1,163,000 A59,000
= 1,104,000
401 AIEHIZ SR HYI 1,104,000 1,163,000 /59,000
[ 1,104,000
01 A28l 1,104,000 1,163,000 59,000
O=d&Al oiEY, M =2 & & =2
ZHIA 72,000
—oHEH =4cl 532 23 =2 Z¥
28,000,000 *14{ 28,000
& 28,000
—NE S8 K22l 548-1-528-581K s22E
22,000,000 * 14! 22,000
< 22,000
—oiEH cH&cl 361 £& ==&
22,000,000 * 14! 22,000
[ 22,000
Oz=dAl HEH StAl2l AFSA
22,000,000 *14! 22,000
== 22,000
Oz=dAl 23S == FHIAL
20,000,000 *14! 20,000
== 20,000
O=&Al HEH el A=SAt
30,000,000 * 14 30,000
=S 30,000
O=&Al HEH AMII0tE AFSA
30,000,000 * 14 30,000
= 30,000
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O=dAl olEXH o2l sgE+32A4
SHIAS 40,000,000 * 14! 40,000
= 40,000
O=&Al HEH 22|08 sZEL2SAIE
SHIAS 20,000,000& 14! 20,000
= 20,000
O=&Al HEH 2S0I2 =sES+S3AE
SHIAS 20,000,000 & 14! 20,000
= 20,000
O=dAl oIEH S50I2 sEEFZ2SAIE
SHIAS 20,000,000 & 14! 20,000
= 20,000
O=&Al HEH BIAIDIS sSZEELZ2SAIE
SHIAS 20,000,000 & 14! 20,000
< 20,000
O=dAl SHEH HS0IS sEES2SAE
HHIAS 20,000,000 & 14! 20,000
< 20,000
O=&Al HEH 242012 =ES+33AE
HHIAIS 20,000,000& 14! 20,000
< 20,000
O=&Al oHEH 22X sge+32A4
HHIAS 40,000,000 * 14! 40,000
= 40,000
O=dAl 22 22 L Hi==2 HU|3At 235,000
—QANH S20I1E 52 TH
25,000,000 *14! 25,000
< 25,000
—g2d Ss201s s2 FH|
25,000,000 *14! 25,000
< 25,000
—g2H BEE a2 &
25,000,000 14! 25,000
== 25,000
—g20 dix2 23 s2 S|
25,000,000 14! 25,000
== 25,000
— ot JIADIES PHEHISAL
30,000,000& * 14 30,000
< 30,000
—CAMNS HE s2 0tAE ZEZBA
25,000,000& 14 25,000
== 25,000
— &AL SHY0LE =2 JHISAL
25,000,000& 14 25,000
== 25,000
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Rl SSIIEALE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&F5 =Sl BHRZE 2
20,000,000& » 14 20,000
= 20,000
—2SAH0IS XAIS (2 &l &78-1)
25,000,000& » 14 25,000
= 25,000
—538 F2cal 861X
20,000,000& * 14| 20,000
= 20,000
—SF5 dldel 722-181X
15,000,000 * 14| 15,000
= 15,000
—=&H 23cl 1337
28,000,000 *14{ 28,000
& 28,000
—&&H HIE2l 568X
15,000,000 * 14! 15,000
< 15,000
O=dAl 2AEs =2 ZESA
30,000,000& *14! 30,000
[ 30,000
O=&8Al 2Es s+
40,000,000& *14] 40,000
== 40,000
O=&A NE =2 & =2 HESA
22,000,000 *14! 22,000
== 22,000
& Ex223A 100,000 250,000 /150,000
401 AIZHIX S0 100,000 250,000 150,000
01 A28l 100,000 250,000 150,000
L& 23 AL ExE2
10,000,000 102 100,000
SN E+2LSA 140,000 40,000 100,000
401 Al HIZL S 0HYI 140,000 40,000 100,000
01 Al&HI 140,000 40,000 100,000
Ok= I8 XN A4 22
10,000,000 *40H 2~ 40,000
OItHZERN 82 =2 24 2LSA
100,000,000 *19H £ 100,000
AlZ2te]l M==X| et & 20,000 20,000 0
== 8,000
Al 12,000
401 AIEHIZ R HYI 20,000 20,000 0
< 8,000
Al 12,000
01 Al&H| 20,000 20,000 0
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Ha: SOlMA J|BIEA
=Hel sYIIBtAY (SH9 H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OAlZ 22| MKl QX
20,000,000 * 100 2 20,000
= 8,000
Al 12,000
SHE 9 =2 2 =2 HU|(HMEAe) 564,539 379,710 184,829
303 Zal= 1,539 1,710 AN
01 2= 1,539 1,710 AN
OSEAH 244 24
128,250 x 12 1,539
305 Hhat= S 3,000 3,000
01 Bia=s 3,000 3,000
OSIIEAIZ U AP 20 [HE AoHHHA
= 1,000, 0002 *37H 2 3,000
401 AIEHIX 20 560,000 375,000 185,000
01 AlZ2H| 560,000 375,000 185,000
OFIg s2IIEAE tEAlg= 21
7,000,000 *50H 2= 35,000
OME S0t SZEESA
80,000,000 * 11 2 80,000
OdllEH KIS =2 & bBi===2 HISA
70,000,000 * 100 2 70,000
OflEH =S0ts sZHESA
40,000,000 *1IH 2 40,000
Oged Uillls s2 dBISA
30,000,000 *1IH 2 30,000
Ogegd Ball= =2 JUISA
30,000,000 *1IH 2 30,000
OoHotd st=0ls Stil+2 JUISA
20,000,000 *1IH 2 20,000
O2INH HZ0tS Stil+2 JHISAH
25,000,000 *1IH 2 25,000
OZAs A4S Sti+=2 JUISA
30,000,000 *1IH 2 30,000
Odd ADI0ls 52 MEESA
25,000,000 %11 £ 25,000
OgdH 0= =2 EXISA
25,000,000 * 11 2 25,000
OAES =0 s2MHESA
100,000,000 *19H £ 100,000
OsFs LIS =2 JHISA
20,000,000 *1IH 2 20,000
Os=5 Hell= 71 dBISA
30,000,000&* 1742 30,000
SN sIIAIE EH 140,000 115,000 25,000
401 AIEHIX SO 140,000 115,000 25,000
01 AlZH| 140,000 115,000 25,000
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Oz SX% 52 & Sti+=2 FH|
25,000, 000& x4 100,000
OHlEd s = 2=A9 X2 AE
20,000,000 #2012 40,000
20238 AAHFTIEANLE AFAY 1,812,000 0 1,812,000
401 AIEHIZ SR 0HYI 1,812,000 1,812,000
01 Al&HI 1,812,000 1,812,000
020238 BAASHSAILE PEAS
181,200,000 * 1004 2~ 1,812,000
20|18 FHIAIS (M EALY) 1,000,000 0 1,000,000
= 900,000
Al 100,000
401 AIZHIX S0HH 1,000,000 0 1,000,000
= 900,000
Al 100,000
01 A28l 1,000,000 0 1,000,000
O&lgt ZHlAre 1,000,000,000& * 14 1,000,000
== 900,000
Al 100,000
Az &l s==M==Xl HE=SAt 420,000 0 420,000
= 126,000
Al 294,000
401 Al HIZ S 0HbI 420,000 0 420,000
= 126,000
Al 294,000
01 AlZH| 420,000 0 420,000
ORIl £4HAT HEZLZA
420,000,000 * 10 2 420,000
== 126,000
Al 294,000
272 BN E AL (R EHALY) 937,500 0 937,500
= 750,000
Al 187,500
401 Al HIZ 2018 937,500 0 937,500
= 750,000
Al 187,500
01 A28l 937,500 0 937,500
OEEXN7 A72 Bis=IHd At
937,500,000 *14] 937,500
== 750,000
Al 187,500
otd &Hl 10,841,733 7,459,643 3,382,090
= 161,000
& 525,000
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Al 10,155,733
S EBIA 10,841,733 7,459,643 3,382,090
= 161,000
= 525,000
Al 10,155,733
CAGHE A (HEAIY) 5,541,033 3,239,603 2,301,430
101 @124H| 804,353 775,328 29,025
MU IIRINZZE2NSES 804,353 775,328 29,025
O &lotd 8| IFY 268,193
— Q12| 78,8802 x 132 *21 2«8 172,274
—=54y 78,8802 1324 %502 53,323
-235Y 78,88021+132+ 122 12,306
—sgaR4y
78,8802 *1.5x4H 82«8 30,290
O&dsotd =35t7 IRY 183,003
—QI24H| 78,8803 x10E 212 +8E 132,519
-5+ 78,8802 x10H x52& 41,018
—Re5d 78,8803 x10H 12 9,466
OF&otd 2HJ] 22 272,832
—Q1244| 98,0002 x 12 *21 2«8 197,568
— =5+ 98,0003 x 12«52 61,152
—Re5d 98,0003 x12H * 12 14,112
O4th Atel28= 80,325
—=0g= 724,025,600 *4. 5% 32,582
—22ZES 724,025,600 +3.495% 25,305
-3y 25,304,700 %12.27% 3,105
—1EEE 724,025,600& *1.75% 12,671
—&HEE 724,025,600& *0.92% 6,662
201 et 3| 146,367 73,275 73,092
01 At2t2l] 42,996 25,308 17,688
OZdlotd |2l MRES 7Y
200,300& x 122 2,404
Ok4otd ol HE AS2HEME 2 &
23 #¢ 216,0002 %122 2,592
OcaoH W stdd FHI(sEXl, 228
5 7d) 1,000,000& «12& 12,000
Okdotd |AZ0 e 228 (0l
e 8) 1,600,000& 123 19,200
O=4otd 2l Fadz =225 74
200,000 x2H +23] 800
OTdold ZH| ZHISXE
500,000& * 128 6,000
2 S22l 103,371 47,967 55,404
OotE&EHl MGt 2E || 10,491
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—XSx SAE 150,000 *1CH 150
— 23N RES 203, 7583 *1CH 204
— Xt XA 150, 0002 * 1CH 150
—xte SEU 575,000 x 122+ 1CH 6,900
—Zexte A
257, 250& x 123 +1H 3,087
OsdstEA 20 HIIANEZ
4,705,0002 123 56,460
O=2d Z&XY MIIMNEZ
790,000 =123 9,480
OdflEdzd SH2e & &dIANEE S 24
3 243 1,900,000& * 12& 22,800
Oll=Jl & s=8&x |*FUH
345,000 123 4,140
203 AR F&lY| 1,000 1,000
03 Al FRIARFXIY| 1,000 1,000
OZ 4Gt SX2e| RFA
1,000,000 * 14 1,000
206 =8l 11,313 11,313
01 M=l 11,313 11,313
OZ 4Gt Z2HX 29 & 24F72Y
371,400 =123 4,457
O&4lotd &I A4ZL
371,300 =123 4,45%
OZastE BEX EX7Y
80,0003 *307H 2 2,400
401 A& HIZ 200 4,575,000 2,385,000 2,190,000
01 Al&Hl 4,575,000 2,385,000 2,190,000
OZ Aot =ZAZ 2el
10,000,0002 * 10 100,000
O AlotE AEE SAHCIAISD (SHEA!, A
HZ, 2SAE &) 1,000,000& *7524 75,000
O4&IE ZHIAY 4,400,000
—ot& &l 1,200,000,000 3 14! 1,200,000
—=HIE 3,200,000,000& * 14! 3,200,000
405 KHHE S| 3,000 5,000 A2,000
01 XML =EF S| 3,000 5,000 A2,000
s&Ze|0 2 MIINEH 2
1,500,000 *2EA 3,000
StE Xl 2tel 902,700 502,700 400,000
202 Ot 2,700 2,700 0
01 =WO4bI 2,700 2,700 0
Ootd 2SR =& JH|EE L JSHEF
E=ga 60,0002 *3H *3 *53] 2,700
401 A& B 20HY| 900,000 500,000 400,000
01 AlEHI 900,000 500,000 400,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSH stEKXI2e| A1 S otE 2
AH) 25,000, 0002 *200H 2 500,000
Odtd ElXE &4 & FSHH AG(1H S
o SHEEESA 20,000, 0002 *209H 2 400,000
A0t HHIAF (M EHALRY) 3,000,000 3,000,000 0
401 AIEHIZ SR 0HYI 3,000,000 3,000,000
01 Al&HI 3,000,000 3,000,000
OZAotd EHIAY 1,111, 11132, 700m 3,000,000
=Jtote RAE= 181,000 74,000 107,000
= 161,000
Al 20,000
201 et23| 4,000 0 4,000
= 4,000
2 35244l 4,000 0 4,000
OADIEEs2ACINAYE K2
4,000,000 * 14 4,000
= 4,000
401 Al HIZL S 0HYI 177,000 74,000 103,000
= 157,000
Al 20,000
01 Al&H| 177,000 74,000 103,000
O=Jlotd |2+ 177,000,000 *14] 177,000
= 157,000
Al 20,000
MEHSIE SEAIE At= 2t 70,000 70,000
401 Al HIZ S OHbI 70,000 70,000
01 AlZ2H| 70,000 70,000
OdEiote SEAE At=2e| 89
35,000,000 #2042~ 70,000
AT SRS (St R 2e]) 147,000 118,000 29,000
= 25,000
Al 122,000
401 Al HIZ 2018 147,000 118,000 29,000
= 25,000
Al 122,000
01 AlZH| 147,000 118,000 29,000
OFYR #IA FHIMY
620,000 *100m 62,000
OollEY HEAotd HHISA
60,000,000 * 14 £ 60,000
O=&Al &5 UI=3SAE AWML
25,000,000& x 14 25,000
= 25,000
2 SHETHOH Ol A (HEALY) 1,000,000 0 1,000,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 500,000
Al 500,000
401 Al HIZL 01| 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 Al&H| 1,000,000 0 1,000,000
O=2d ot Ol 2 A
1,000,000,000& * 14 1,000,000
=S 500,000
Al 500,000
=X 3,601,791 1,495 3,600,296
=Xt 2ke| 3,601,791 1,495 3,600,296
CA =X ZA R EE FA 1,380 1,495 A115
201 et23| 300 415 A115
01 At22te|Hl 300 415 A115
O=td R SAIEX 28
23,0002 x5t A 115
O HRFA D2l EYH € ARES
& 185,000& %12 185
202 04l 1,080 1,080
01 2LHoIH 1,080 1,080
= 2Ege =4 =82 2 g4ed
& F4 60,0002 x32 22«33 1,080
QENZH el 3,600,411 3,600,411
101 21A4H| 1,141,511 1,141,511
04 JIZtN2Z2 XS 1,141,511 1,141,511
OeZd =5 % &Cj2e| A2(E
S) 81,722
—JlEs 78,8802 x4 H 212 <8 53,008
-5+ 78,8803 x4 +51 16,092
—s52sd 78,8802 x4 » 16 5,049
—AlZ2tel=g
14,7902 *4H*4A| 2++32&d 7,573
OeelZd =5 & &Cj2e| ARA(S
=) 365,348
—JlZ2= 98,0002 x 142 +212+8 230,49%
—F5=4 98,0002 x14H+51 69,972
—35¢=sE 98,0003 x14H ~ 16 21,952
—A2te|=&
18,3753 148 4 A| 2Hx32 32,928
Oeaelzd =5 & ML 2Y (S
) U222 39,841
—=2g= 355,348,000 *4. 5% 15,991
—2ES 305,348,000 +3.545% 12,598
—1NEEE 365,348,000 *1.75% 6,219
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Hu: 218
Rl =2l EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
— e 355,348, 000& *0.962% 3,419
-3 12,597 ,087& *12.81% 1,614
OLEEEE = L &OjAe| eIRAd(E
S) 4Ui28= 9,165
—=0032 81,719,680 *4.5% 3,678
—HAEH 81,719,680 *3.545% 2,897
—1E28d 81,719,680 *1.75% 1,431
—AHHEE 81,719,680 *0.962% 787
-2k 2,896,963 *12.81% 372
OREITE oEBR| ol 547,824
—-Jl=2
9,860 +6A| 2H+20H +212L x 12 298, 167
—FEaY 59, 1602202 #5712 60,344
—BHYLY 59, 16021 %202+ 162 18,932
—FYUR2sy
14,7902 +20Z *12A] 2+ #4824 170,381
OLAZBE otMate| IR JHEE= 61,419
—=0lz 547,821,600& *4 . 5% 24,652
—ALEE 547,821 ,600& *3.545% 19,421
-85 547,821,600& *1.75% 9,587
—AHEE 547,821,600 *0.962% 5,271
-3 19,420,2762 *12.81% 2,488
OLAZE &4 22| o2 41,533
=Jl=22 9,860 *6A| 2H+2H 21 x 122 29,817
—=54 59, 1603 x2Y«51! 6,035
-5 59, 1603 «2H =162 1,894
—AZ2HeI
14,7903 x2H #4 A| 2Hx32 3,787
OLENZE SHEA 2ol JHEE =S 4,659
—=01H3 41,540,320 *4.5% 1,870
-2 41,540,320 «3.545% 1,473
-85 41,540,3203*1.75% 727
—MTHEE 41,540,320 3 *0.962% 400
-3 1,472 ,6043%12.81% 189
201 LB-2AY| 486,100 486,100
01 AtR2telt] 15,000 15,000
OEZE AId= RAI&2 15,000
—&I[otNM 22| HE 29|
450,000& *12& 5,400
—3t&4 YA 2
100,000 *8IH A 12& 9,600
02 324l 471,100 471,100
OEZE B3Rz HF 264,000
—&II1e3 15,000,000 * 12& 180,000
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SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
— Ao EER2 7,000,000 x12& 84,000
OLLEeIZE Ald HH| g2t 193,600
—HSAE HA L X2l
2,000,000 %153] 30,000
—AEE ARE |X22lH]
2,000,000&*153] 30,000
—&AXE FXIH] 200,000 *20&] 4,000
— A& & SXI2te
500,000 x 105 *243] 120,000
—BABD @RS
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